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B Proofs from Section 2
B.1 Proof of Proposition 1
Proof. We prove the following relations:

vy D>
By setting S = ) in both Eq. (4) and Eq. (5), we obtain V.S C V:

PN ICCHERTICI (19)
€S
and
£08) =5 f{ih)- (20)
€S

The result follows since, by definition of v and ©, they are the largest scalars such that Eq. (19) and Eq. (20)
hold, respectively.

*vy21l1—-a&y21—-o
Let S,Q C V be two arbitrary disjoint sets. We arbitrarily order elements of Q = {e1,--- ,eq/} and we let
Q;_1 denote the first j — 1 elements of Q2. We also let {2y be an empty set.

By the definition of & (see Eq. (7)) we have:

|2 Q|
S rets) =3 F e S u e\ feh)
Jj=1 Jj=1
[o]
> (1= a)f ({e}5 U e} \ {e} U Q1)
— (1—a)f (), (21)

where the last equality is obtained via telescoping sums.

Similarly, by the definition of « (see Eq. (6)) we have:

12 ko]
(1=a) 3" f (Hesh$) = D (1= a)f (e HS U{es} \ {es))
Jj=1 J=1
o]
<N F{e S Ufeh\ {e U
j=1
= f (QIS) (22)

Because S and 2 are arbitrary disjoint sets, and both v and % are the largest scalars such that for all disjoint
sets S, C V' the following holds "I f({e;}|S) > v£(QS) and 5 X2, f ({e;}[S) < £ (QIS), it follows
from Eq. (21) and Eq. (22), respectively, that v > 1 — & and ¥ > 1 — a.



Robust Maximization of Non-Submodular Objectives

B.2 Proof of Remark 1
Proof. Consider any set S CV, and A and B such that AUB =S5, AN B = (. We have
JA+TB) 72 ieafHiD) + 72 iep FHDY) _ 72 ies FHIY)

JAC) . f(9) f(9)

where the first and second inequality follow by the definition of v and 7 (Eq. (8) and Eq. (9)), respectively.
By the definition (see Eq. (10)), 6 is the largest scalar such that f(A) + f(B) > 0f(S) holds, hence, it follows
0> vp. O

> v

C Proofs of the Main Result (Section 3)

C.1 Proof of Lemma 2

We reproduce the proof from [2] for the sake of completeness.

Proof.
F(S\ Eg) = f(S) = f(S)+ f(S\ Eg)

= f(SoUS1) + f(S\ Eo) — f(S\ Eo) — f(S)+ f(S\ Eg)
= f(S1) + f(So | S1) + f(S\ Eo) — f(S) = f(S\ Eo) + f(S\ Eg)
= f(S1) + f(So | (S\ S0)) + f(S\ Eo) — f(EoU(S\ Eo)) — f(S\ Eo) + f(S\ E)
= f(51) + f(So [ (S\S0)) = f(Eo | (S\ Eo)) — f(S\ Eo) + f(S\ Eg)
= f(S1) + f(So [ (S\S0)) — f(Eo | (S\ Eo)) — f(E1U(S\ Eg)) + f(S\ ES)
= f(S1) + f(So | (S\So)) — f(Eo | (S\ Eo)) — f(Er | S\ ES)
= f(S1) = f(E1 | S\ EG) + f(So | (S\S0)) — f(Eo | (S\ Eo))
> (1= p)f(S1), (23)

where we used S = SyUS;, Ef = EgUE;. and (23) follows from monotonicity, i.e., f(So | (S\S0)) — f(Eo | (S'\
Ep)) > 0 (due to Eg C Sp and S\ Sy C S\ Ep), along with the definition of pu. O

C.2 Proof of Lemma 3

Proof. We start by defining S := OPT (,_; v\ £,) N (So \ Eo) and X := OPT ;v\ &) \ Sp-

f(So\ Eo) + f(OPT (1 v\s0)) = [(Sy) + f(X) (24)
> 0f(OPT (k7 v\ Ey)) (25)
> 0f(OPT (17 v\E2)): (26)

where (24) follows from monotonicity as S C (Sp \ Eo) and (V' \ Sp) C (V' \ Ey). Eq. (25) follows from the fact
that OPT(,—, v\ gy = Sy U X and the bipartite subadditive property (10). The final equation follows from the
definition of the optimal solution and the fact that E§ = Ey U E;.

By rearranging and noting that f(S\ E%) > f(So \ Eo) due to (So\ Ep) C (S'\ E¥) and monotonicity, we obtain

FS\ES) > 0f(OPT (7 v\Ex) — F(OPT (11 v\s,))-

C.3 Proof of Theorem 1

Before proving the theorem we outline the following auxiliary lemma:
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Lemma 5 (Lemma D.2 in [2]). For any set function f, sets A, B, and constant a > 0, we have

max{af(4), 6(B) - ()}_( )ﬁf() (27)

Next, we prove the main theorem.

Proof. First we note that S should be chosen such that the following condition holds |Sy| = [87] < k. When
7 = [ck] for ¢ € (0,1) and k — oo the condition 8 < 1 suffices.

We consider two cases, when p =0 and g # 0. When p = 0, from Lemma 2 we have
f(S\Eg) = f(51) (28)
On the other hand, when p # 0, by Lemma 2 and 4 we have
S\ ES) = max{(1 — ) f(51), (8 — 1)o(L = a)uf(S1)}

(8- )il - &)
> G e ) (20)

By denoting P := % we observe that P € [0,1) once 5 > 1. Hence, by setting 5 > 1 and taking the

minimum between two bounds in Eq. (29) and Eq. (28) we conclude that Eq. (29) holds for any p € [0, 1].
By combining Eq. (29) with Lemma 1 we obtain

FS\E5) 2 P (1- 757 ) fOPTGr1s0). (30)

By further combining this with Lemma 3 we have

* A k=[BT]
FS\ EG) > max{0f(OPT (., v\gz)) — fF(OPT(x—rv\50))s P (1 — e ) FOPT(x—rv\s0)) }

P(1- e )
>0

k—[B7]

1+P(1—e—7 = )

f(OPT (7 v\Ex)) (31)

where the second inequality follows from Lemma 5. By plugging in 7 = [ck] we further obtain

k—B[ck]—1

P (1 —e VT ok

_ k—B[ck]—1
1—|—P(1—e TR )

1[‘3c—l7é
P(l—e” — k)
>0

- 1—Be— i
1+P(1—e YT e )
opP (1 - e—vlf—’i”)

14+ P (1)

F(S\ES) >0 fOPT (4 —rv\Ez))

FOPT (k- v\E2))

k—

FOPT (k7 v\E2))-

Finally, Remark 2 follows from Eq. (30) when 7 € o ( ) and 8 > log k (note that the condition |Sp| = [B7] < k
is thus satisfied), as k& — oo, we have both % — 1l and P = % — 1, when v € (0,1] and
ve[0,1).

O
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C.4 Proof of Corollary 1

To prove this result we need the following two lemmas that can be thought of as the alternative to Lemma 2
and 4.

Lemma 6. Let i/ € [0,1] be a constant such that f(E1) = p'f(S1) holds. Consider f(-) with bipartite subaddi-
tivity ratio 6 € [0,1] defined in Eq. (4). Then

FISNEG) > (0 — ') f(Sh). (32)
Proof. By the definition of 8, f(S1 \ E1) + f(E1) > 0f(S1). Hence,
FS\ES) > f(S1\ Er)
> 0f(51) — f(En)
= (0 — ) f(S1).
O

Lemma 7. Let 8 be a constant such that |So| = [B7] and |So| < k, and let v,v € [0,1] be superadditivity and
subadditivity ratio (Eq. (9) and Eq. (8), respectively). Finally, let p’ be a constant defined as in Lemma 6. Then,

FS\NEG) = (B—1)owp f(S1). (33)

Proof. The proof follows that of Lemma 4, with two modifications. In Eq. (34) we used the subadditive property
of f(-), and Eq. (35) follows by the definition of p’.

F(S\ Eg) = f(So\ Eo)

> Z f({ei})

e; €S0\ FEo
< 150\ Eol .
> | B | P;Elf ({e:})
T S fed)
e; €y
> (B=1wvf (Er) (34)
= (8 = V)owy' f(S1). (35)

Next we prove the main corollary. The proof follows the steps of the proof from Appendix C.3, except that here
we make use of Lemma 6 and 7.

Proof. We consider two cases, when p/ =0 and p/ # 0. When p/ = 0, from Lemma 6 we have
F(S\Eg) = 0f(S51).
On the other hand, when p/ # 0, by Lemma 6 and 7 we have
FS\EG) = max{(0 — 1) f(S1), (B — L)owp' f(S1)}

(B =1
> 07 S 36
1+ (B- 1w F(50). (36)
By denoting P := % and observing that P € [0,1) once 3 > 1, we conclude that Eq. (36) holds for any
w €10,1] once g > 1.
By combining Eq. (36) with Lemma 1 we obtain
7]
S\ E5) =2 0P (1-e ) FOPT G 50)- (37)
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By further combining this with Lemma 3 we have

E—[B7]

f(S\ Eg) > max{0f(OPT 4, v\£s) — fF(OPT (-7 v\5)), 0P (1 —e TR ) FOPT (7 v\50)) }

(11— )
> k(B8] f(OPT(k—T,V\EE))v (38)
14+0P (1- ")

where the second inequality follows from Lemma 5. By plugging in 7 = [ck] in the last equation and by letting
k — oo we arrive at:
0P (1- e )
14 6P (1 _fyl—ﬂc) f(OPT(kf-nV\Eg))'
— e 1—c

f(S\ Eg) >

Finally, from Eq. (38), when 7 € o (%) and 3 > log k, as k — oo, we have both % —land P = % —
1 (when v,7 € (0,1]). It follows

0%2(1 —e77)
1+6(1—e)

F(5\ BY) 2= FOPT (s v\ i)

D Proofs from Section 4

D.1 Proof of Proposition 2

Proof. The goal is to prove: § > .

Let S C [d] and © C [d] be any two disjoint sets, and for any set A C [d] let x(4) = arg MAaXg, 0 (x)CA,xex LX)
Moreover, for B C [d] let X(BA) denote those coordinates of vector x(1) that correspond to the indices in B.

We proceed by upper bounding the denominator and lower bounding the numerator in (5). By definition of x(5)
and strong concavity of I(-),

[(xSUD) — (x8)) < (Wi(x(®), xBUED _ x50y T Hx<su{i}> ) H2
— ) 2

2
<  max <VZ(X(S)),V—X(S)>—% HV—X(S)H

T Viv(su{i})e=o
1

2
vi(x(S) H
2m M)

where the last equality follows by plugging in the maximizer v = x(%) + Lvi (x(%));. Hence,

3 (l(x<su{i}>) _ 1(x<5>)) < ; % HW(X@)% ?

1 2
- oo
‘ 2m
1€Q

On the other hand, from the definition of x(5“») and due to smoothness of I(-) we have

1) 1) 2 1) 4 TV )a) — 1)

1 2

> (VI(x), EW(X<S>)9> — g Hivux@))g

- szl
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It follows that
I(x(5YD)) — 1(x(9)

Yieq (I(xSU1D) — 1(x(5)))
We finish the proof by noting that ¥ is the largest constant for the above statement to hold.

> %, V disjoint S, Q C [d]

D.2 Variance Reduction in GPs

D.2.1 Non-submodularity of Variance Reduction

The goal of this section is to show that the GP variance reduction objective is not submodular in general.
Consider the following PSD kernel matrix:

1 Vv1i—2z2 0
K= |v1-22 1 22
0 22 1

We consider a single z = {3} (i.e. M is a singleton) that corresponds to the third data point. The objective is
as follows:

F(ilS) = o{sy5 — 0y 50i-
The submodular property implies F/({1}) > F({1}|{2}). We have:

F({1}) = ofsy — oy
=1-K({3},{3}) - K({3}, {1)(K({1},{1}) + o*) 'K ({1}, {3})

and
F({2}) = of3, — o312
=1-K({3},{3}) - K({3}, {2 (K({2},{2}) + o*) 'K ({2}, {3})
2,4
1= 40" =
and
F({1,2}) = o3y — o112
— 1= K3k D+ (e kL el [ e ] R )
o [14+02,v/1—22 - 0
:1—1+[07Z]|:m71+0_2 |:22:|
_ (40
(14+02)2 = (1-22)
We obtain,

P12 = F({1,2}) - F({2})

z Z4

(14+02)—(1—22)(1+02)~1 1+02

When z € (0,1), F({1}|{2}) is strictly greater than 0, and hence greater than F({1}). This is in contradiction
with the submodular property which implies F({1}) > F({1}|{2}).
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D.2.2 Proof of Proposition 3

Proof. We are interested in lower bounding the following ratios: ! (f{(? Jﬁg{\?ﬁ?) and 7 {{(Z‘{}l‘}S'f {\z{}ﬁg)

Let kmax € Ry be the largest variance, i.e. k(x;,%;) < kmax for every i. Consider the case when M is a singleton
set:

FilS) = 025 — 02504
By using 2 = {i} in Eq. (39), we can rewrite f(i|S) as
f(ilS) = a7 B,
where a;, B; € Ry, and are given by:

a; = kJ(X7 Xi) — k:(x, Xs)(k‘(Xs,Xs) + 021)_1]€(X5’,Xi)

and
B = 0% + k(xi,%x;) — k(x5, Xg) (k(Xs, Xg) + 021) " k(Xg, x;).

By using the fact that k(x;,%;) < kmax, for every i and S, we can upper bound B; by 02 + kpax (note that
k(xi,xi) — k(xi, Xs)(k(Xg, Xg) + 02I) " k(Xg,x;) > 0 as variance cannot be negative), and lower bound by 2.
It follows that for every i and S we have:

a2 a?
% cr18) < Y
02 + kmax 1@ls) < o2
Therefore,
FUBIS\ {3 U Q) _ a}/(0? + kinax) o’ :
> — = VS, Q C Q
FAHS\GD = @? Pk OEVIESE
f({ZHS \ {Z}) 112/(0'2 + kmax) 0'2 .
> L = 0 C Q.
TS\ U = @ja? P kS VIES
It follows:
2
o
(1-—a)> P and
2
o
1—-a .
The obtained result also holds for any set M C [n]. O

D.2.3 Alternative GP variance reduction form

Here, the goal is to show that the variance reduction can be written as
F(QIS) = 0315 — 0%js5u0 = aB ™ 'a’, (39)

1X‘Q\S|, B < RLQ\SMQ\SI and are given by:

where a € R}
a:=k(x,Xo\s) — k(x, Xs)(k(Xs,Xs) + 0°I) " k(Xs, X 5),

and
B =0T+ k(Xo\s, Xons) — k(X s, Xs) (k(Xs, Xs) + 0°T) " h(Xs, Xays)-

This form is used in the proof in Appendix D.2.2.
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Proof. Recall the definition of the posterior variance:
-1
025 = k(x,%) — k(x, X5s) (k(Xs,Xs) + 0°Tj5)) k(Xs,X).

We have
F(QIS) = 0%15 — 021500
= k(x, Xsua) (k(Xsua, Xsua) + UzI\QuS\Y1 k(Xsua,x) — k(x,Xg) (k(Xs,Xs) + O'QI|S|)71 k(Xs,x)

A117A12] - [mlT

—1._..T
= [m;, m —mjATTm
[, mo [A217A22 1112T] R

where we use the following notation:

m; = k(x, Xg),

m; = k(x, Xqo\s),

Ay = k(Xs, Xs) + 07T g,

Ay = k(Xs, Xa\s),

Ay = k(Xo\ s, Xs),

Ax = k(Xq\s, Xo\s) + 0o\ s/

By using the inverse formula [39, Section 9.1.3] we obtain:

—1 -1 -1 -1 A1 1 T
1019 = g [T AT 4D AT ATALD ]

~B Ay AL} B! sz] —miAjimy,
where

B = A22 - A21A;11A12.
Finally, we obtain:

F(QS) =m A7 m? + miA P A B Ay A m] — myB 7 Ay A mT
— mlAl_llAlnglmQT + mnglmg — mlAl_llmlT
=m A AB T (Az A m] — m3) - myBT (A A 'm{ — mj)
= (M1 A Ay —my)B Ay Aj'm{ —m3)

= (Hl2 — mlAﬁlAlg)B_l(mg — AglAfllm{).

By setting
a:=myo — mlAﬁlAlg

= k(x,Xo\s5) — k(x,Xs)(k(Xs, Xs) + 0°I) 7'k(Xs, X0 5)

and
a’ :=ml — Ay A;'mT

= k(Xo\s, %) — k(Xo\s, Xs) (k(Xs, Xs) + 0°T) k(X g, %),

we have
F(Q|S) =aB™'a’,

where

B = o’Tjo\s) + k(Xa\s, Xays) — k(Xays, Xs) (k(Xs, Xs) + 0°Ls) ~ k(Xs, Xays)-
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E Additional Experiments
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Figure 6: Additional experiments for comparison of the algorithms on support selection task.



